Calculating Area — please see this link to think about how we can calculate area when
the squares inside the shape are taken away: Area of a rectangle The rule to follow: Length x width

Multiply the length by the width of the following shapes to calculate the area.

3cm 2m

Draw a shape with an area of:

a) 16 cm? b) 8 cm?
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https://www.youtube.com/watch?v=CgqgY7a630Q&list=PLZXaB-dpg4g3zDi0CgekZxVt4prFD0t3J&index=4&t=0s
http://www.easyteaching.net/

Calculating Area Answers
Area = Length x Width

Multiply the length by the width of the following shapes to calculate the area.

3cm 2m

Area = 18 cm? Area = 10 m? Area =15 cm?

1mm 7 cm

Area = 25 km? Area = 7 mm? Area =42 cm?

Area =12 cm? Area = 9 m?

Draw a shape with an area of:

a) 16 cm? b)) 8 cm?

There are many other shapes you could have created — as long as the number of squares inside the shape, total 16 and 8.




